Chapter 6 Review Worksheet Name: Y/E \/

Evaluate the expression without using a calculator. (Lesson 6.1)
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Simplify the expression. Assume all variables are positive. (Lesson 6.2)
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Let f(x) = —3x1/3 + 4x1/2, g(x) = 5x1/3 + 4x1/2, Perform the indicated operation and
state the domain. (Lesson 6.3)
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Let f(x) = 4x2/3, g(x) = 5x'/2. Perform the indicated operation and state the domain.
(Lesson 6.3)
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Let f(x) 3x71, g(x) = 2x — 7, and h(x) = —. Perform the indicated operation and
state the domain. (Lesson 6.3)
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Find the inverse of the function. (Lesson 6.4)
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Verify that f and g are inverse functions. (Lesson 6.4)
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G raph the function f Use the horlzontal line test to determine whether the inverse of fis a
function. Then graph the inverse of f. (Lesson 6.4)
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Graph the function. Then state the domain and range. Lastly, compare the function with its
parent function. (Lesson 6.5)
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(p\vg back intoe OYigined equation)

Solve the equatlon Check for extraneous solutlons (Lesson 6.6)
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